

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 6, 2024

Progress Estim	ate Number	Contract ID Prime Contractor	240216-A02 Herzog Contracting C		April 16, 2024 May 1, 2024	Original Contract Amount Net Change Order Amount Current Contract Amount	\$5,446,957.62 \$0.00 \$5,446,957.62			
Approval Date										
May 6, 2024			Generated and App	roved (and should be cor	sidered Draft) a	t the Project Office Level by	drownm1			
May 6, 2024		R	eviewed and Approved	l (and should be consider	ed Draft) at the	Resident Engineer Level by	burnsj3			
May 6, 2024			Rev	iewed and Approved at th	ne Central Offic	e Controllers Office Level by	ramses1			
Original Comp	ompletion Date Current Completion Date Actual Completion Date % of Current Contract Amou									
November	er 1, 2024 November 1, 2024 71.89%									

Contract Informational Dates											
Original Completion Date	Current Completion Date	No Milestones Exist for Contract									
March 6, 2024	March 6, 2024										
February 16, 2024	February 16, 2024										
April 8, 2024	April 8, 2024										
	Original Completion Date March 6, 2024 February 16, 2024	February 16, 2024 February 16, 2024									

Contract Total Pa	Contract Total Pay For Estimate No. 3										
		This Estimate	Previous	To Date							
240216-A02											
	Total Posted Items Pay	\$2,463,836.08	\$1,452,041.99	\$3,915,878.07							
	Gross Item Adjustments	(\$18,937.87)	(\$482,311.80)	(\$501,249.67)							
	Incentive	\$0.00	\$0.00	\$0.00							
	Disincentive	\$0.00	\$0.00	\$0.00							
	Liquidated Damage	\$0.00	\$0.00	\$0.00							
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00							
	•		\$969,730.19	\$3,414,628.40							
Contract Total Pa	ayable This Estimate:	\$2,444,898.21									

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount				
JST0075	0100	4071005	TACK COAT	GAL	\$3.450	-10,485	(\$36,173.25)				
	0101	4071005	TACK COAT	GAL	\$4.312	15,504	\$66,861.00				
	0110	6123000A	RUCK OR TRAILER MOUNTED ATTENUATOR (TMA) EA \$1.000 2								
	0120	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	ISC.LUMP SUM TEMPORARY TRAFFIC CONTROL LS \$9,000.000 0.95							
	0130	6181000	MOBILIZATION	LS	\$200,000.000	0.5	\$100,000.00				
	0140	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.150	94,285	\$14,142.75				
	0150	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$29.380	150	\$4,407.00				
	0180	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT TONS \$50.000 875.02								
	0190	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$103.500	2,420.71	\$250,543.49				
	0200	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	TONS	\$50.000	1,607.56	\$80,378.00				
	0210	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$101.500	10,306.08	\$1,046,067.12				
	0220	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	TONS	\$50.000	1,708.93	\$85,446.50				
	0230	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	ITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE TONS \$101.500 7,591.27							
	0241	4071005	TACK COAT	GAL	\$4.312	6,805	\$29,346.56				
Project JS	T0075 - To	tal					\$2,463,836.08				
Overall - T	otal						\$2,463,836.08				

Contract Adjustments This Estimate

Revision 3/23/2023 Page 1 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 6, 2024

Progress Estimate Number 3 Contract ID 240216-A02 Pay Period Start April 16, 2024 Original Contract Amount \$5,446,957.62 Pay Period End May 1, 2024 Net Change Order Amount \$0.00 \$0

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
IST0075	0100	TACK COAT	MaterialCredit			10,485	\$3.45	\$36,173.25
	0110	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material			-2	\$1.00	(\$2.0
	0140	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-94,285	\$0.15	(\$14,142.7
	0150	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun			-150	\$29.38	(\$4,407.0
	0160	MISC.	MaterialCredit			1,481.1	\$50.00	\$74,055.0
	0160	MISC.	Material			-1,481.1	\$50.00	(\$74,055.0
	0180	MISC.	Material			-875.02	\$50.00	(\$43,751.0
	0190	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Overrun			-475.22	\$103.50	(\$49,185.2
	0190	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	MaterialCredit			2,825.71	\$103.50	\$292,460.9
	0200	MISC.	Material			-1,607.56	\$50.00	(\$80,378.0
	0210	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Overrun			-264.74	\$101.50	(\$26,871.1
	0210	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Overrun			-553.44	\$101.50	(\$56,174.1
	0230	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Overrun			-715.87	\$101.50	(\$72,660.8

Revision 3/23/2023 Page 2 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information									
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work									
JNWM0052		Resurface	NN	CLINTON	from Route 31 to Route	om Route 31 to Route 33 near Cameron									
JST0075		Resurface	CC, V, Z, D, F	ANDREW		on Rte. D in Gentry Co. from Rte. Z to Rte. 6, on Rte. F in Dekalb Co., on Rte. Z in Buchanan Co., on Rte. V in Andrew Co. from Rte. 169 to Rte. 6, and on Rte. CC in in Andrew Co.									
Γotals by Job	Numbers														
JNWM0052	Posted Item Pay Gross Item Adjustments Gross Item Pay				This Estimate \$0.00 \$0.00 \$0.00	Previous \$0.00 \$0.00 \$0.00	To Date \$0.00 \$0.00 \$0.00								
		ntive ted Damages			\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00								
	Other C	ontract Adjust	ments		\$0.00	\$0.00	\$0.00								
JST0075	Posted Item Pay Gross Item Adjustments Gross Item Pay				This Estimate \$2,463,836.08 (\$18,937.87) \$2,444,898.21	Previous \$1,452,041.99 (\$482,311.80) \$969,730.19	To Date \$3,915,878.07 (\$501,249.67) \$3,414,628.40								
			monte		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00								

Revision 3/23/2023 Page 3 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JST0075, Item 3049910, Project Item Line Number 0160, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Waiting on certs.	drownm1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JST0075, Item 3049910, Project Item Line Number 0180, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Waiting on certs.	drownm1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JST0075, Item 3049910, Project Item Line Number 0200, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Waiting on certs.	drownm1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JST0075, Item 4071005, Project Item Line Number 0100, Material Set 407100596, Material 1015EASS1VH - Emulsified Asphalt - Trackless Tack, Acceptance Action Generic AspEmulsion is insufficient.	Waiting on certs.	drownm1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JST0075, Item 6123000A, Project Item Line Number 0110, Material Set 6123000A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Waiting on certs.	drownm1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JST0075, Item 6206001C, Project Item Line Number 0140, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting on certs.	drownm1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JST0075, Item 6206001C, Project Item Line Number 0140, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting on certs.	drownm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240216-A02, Contract Project JST0075, Project Item Line Number 0150, Contract Line Item Number 0150, Item 6224010, Minor Item.	Working on change order.	drownm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240216-A02, Contract Project JST0075, Project Item Line Number 0190, Contract Line Item Number 0190, Item 4020521, Minor Item.	Working on change order.	drownm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240216-A02, Contract Project JST0075, Project Item Line Number 0210, Contract Line Item Number 0210, Item 4020521, Minor Item.	Working on change order.	drownm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240216-A02, Contract Project JST0075, Project Item Line Number 0230, Contract Line Item Number 0230, Item 4020521, Minor Item.	Working on change order.	drownm1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 240216-A02, Contract Project JST0075, Project Item Line Number 0170, Contract Line Item Number 0170, Item 4020521, Minor Item.	Working on change order.	drownm1	Acknowledged

Revision 3/23/2023 Page 4 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240216-A02	JNWM0052	0001	0010	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	4,148.00	0.00	4,148.00	TONS	0.00	\$52.00	\$0.00
		0001	0020	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	10,033.50	0.00	10,033.50	TONS	0.00	\$104.50	\$0.00
		0001	0030	4071005	TACK COAT	12,688.00	0.00	12,688.00	GAL	0.00	\$2.90	\$0.00
		0001	0040	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1.00	\$0.00
		0001	0050	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.00	\$3,400.00	\$0.00
		0001	0060	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$100,000.00	\$0.00
		0001	0070	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	31,416.00	0.00	31,416.00	LF	0.00	\$0.14	\$0.00
		0001	0080	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	108,086.00	0.00	108,086.00	LF	0.00	\$0.17	\$0.00
		0001	0090	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	978.00	0.00	978.00	SQYD	0.00	\$14.50	\$0.00
	Project JNW	M0052 - To	tal Value	Posted to D	Date as of Report Generated Date							\$0.00
	JST0075	0001	0100	4071005	TACK COAT	27,628.00	-27,628.00	0.00	GAL	0.00	\$3.45	\$0.00
		0001	0101	4071005	TACK COAT	0.00	22,102.40	22,102.40	GAL	15,504.00	\$4.31	\$66,861.00
		0001	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1.00	\$2.00
		0001	0120	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.95	\$9,000.00	\$8,550.00
		0001	0130	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$200,000.00	\$200,000.00
		0001	0140	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	248,181.00	0.00	248,181.00	LF	94,285.00	\$0.15	\$14,142.75
		0001	0150	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	803.00	0.00	803.00	SQYD	1,251.30	\$29.38	\$36,763.19
		0050	0160	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,212.10	0.00	3,212.10	TONS	1,481.10	\$50.00	\$74,055.00
		0050	0170	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	7,713.20	0.00	7,713.20	TONS	8,359.13	\$109.70	\$916,996.56
		0051	0180	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,989.70	0.00	1,989.70	TONS	875.02	\$50.00	\$43,751.00
		0051	0190	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	4,771.20	0.00	4,771.20	TONS	5,246.42	\$103.50	\$543,004.47
		0052	0200	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,770.90	0.00	3,770.90	TONS	1,607.56	\$50.00	\$80,378.00
		0052	0210	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	9,487.90	0.00	9,487.90	TONS	10,306.08	\$101.50	\$1,046,067.12
		0053	0220	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	2,746.20	0.00	2,746.20	TONS	1,708.93	\$50.00	\$85,446.50
		0053	0230	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	6,875.40	0.00	6,875.40	TONS	7,591.27	\$101.50	\$770,513.90
		0053	0240	4071005	TACK COAT	8,698.00	-8,698.00	0.00	GAL	0.00	\$3.45	\$0.00
		0001	0241	4071005	TACK COAT	0.00	6,958.40	6,958.40	GAL	6,805.00	\$4.31	\$29,346.56
		0053	0250	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	16,389.00	0.00	16,389.00	LF	0.00	\$0.14	\$0.00
		0053	0260	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	0.00	\$0.17	\$0.00			
		0053	0270	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	319.00	0.00	319.00	SQYD	0.00	\$30.12	\$0.00
					e as of Report Generated Date							\$3,915,878.06
240216-A02 Ove	rall - Total Va	lue Posted	to Date	as of Report	Generated Date							\$3,915,878.06

Revision 3/23/2023 Page 5 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JST0075

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0100	4071005	TACK COAT	4/17/24	4/24/24	1,931.00	GAL		RT F 3.430		Rt F 6.380		
			4/23/24	5/6/24	241.00	GAL		0+00		20+50		
			4/25/24	4/26/24	-12,657.00	GAL		0+00		Rt F 6.380		Removing quantities from Line 0100 and adding quantities onto Line 0101 per change order 1.
0101	4071005	TACK COAT	4/24/24	4/26/24	2,847.00	GAL		20+50		240+16		
			4/25/24	4/26/24	12,657.00	GAL	Updating quantities for change order 1					
0110	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	4/23/24	5/6/24	2.00	EA		0.00 Rt D NB		RT D N 10.287		
0120	6169901	MISC.	4/23/24	5/6/24	0.95	LS	RT Z,V,D,F	0+00		Rt F 6.380		
0130	6181000	MOBILIZATION	5/1/24	5/2/24	0.50	LS		0.00 Rt D NB		Rt F 6.380		
0140	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	4/23/24	5/6/24	94,285.00	LF		0.00 Rt D NB		10.287 RT D NB		
0150	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4/17/24	4/24/24	150.00	SQYD	Intersection US 36 and Z Hwy, Intersection of Z Hwy and 6 Hwy	12.052				
0180	3049910	MISC. AGGREGATE FOR BASE	4/23/24	5/6/24	875.02	TONS		0.00 R F NB		6.380 RT F NB		
0190	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	4/17/24	4/24/24	2,420.71	TONS		RT F 3.430		Rt F 6.380		
0200	3049910	MISC. AGGREGATE FOR BASE	4/29/24	5/2/24	602.48	TONS	282+50 - 0++00 NB	192+00SB		282+50 SB		
			5/1/24	5/2/24	1,005.08	TONS		Various Locations		Various Locations		
0210	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	4/23/24	5/6/24	264.74	TONS		0+00		20+50		
			4/24/24	4/26/24	3,514.94	TONS		20+50		240+16		
			4/27/24	5/2/24	2,085.12	TONS		240+16	360+67			
			4/29/24	5/2/24	2,504.41	TONS		360+67		506+95		
			4/30/24	5/2/24	1,936.87	TONS		506+95		631+23		
0220	3049910	MISC. AGGREGATE FOR BASE	4/23/24	5/6/24	324.53	TONS		0.00 RT V WB		4.638 RT V WB		
			4/27/24	5/2/24	857.04	TONS		0.000	8.798			
			4/29/24	5/2/24	527.36	TONS		303+03		462+51		
0230	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	4/19/24	4/24/24	3,234.65	TONS		0+00		205+78		
			4/22/24	4/24/24	2,961.59	TONS		205+78		468+51		
			4/23/24	5/6/24	1,395.03	TONS		462+51		303+03		
0240	4071005	TACK COAT	4/19/24	4/24/24	2,896.00	GAL		0+00		205+78		
			4/22/24	4/24/24	2,606.00	GAL		205+78		462+51		
			4/23/24	5/6/24	1,303.00	GAL		462+51		303+03		
			4/25/24	4/26/24	-6,805.00	GAL	See comments	0+00		RT Z		Removing from Line 0240 and posting on Line 0241 see change order 1.
0241	4071005	TACK COAT	4/25/24	4/26/24	6,805.00	GAL	Updating quantities for change order 1					

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 6 of 9



Line Item Adjustments by Estimate

Contract ID: 240216-A02

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
JST0075	0100	TACK COAT	Material		2	Apr 18, 2024	SYSTEM	(\$36,173.25)	
				- Total				(\$36,173.25)	
			Material - Tota					(\$36,173.25)	
			MaterialCredit		3	May 6, 2024	SYSTEM	\$36,173.25	
				- Total				\$36,173.25	
			MaterialCredit	- Total				\$36,173.25	
	0100 -	Total						\$0.00	
	0110	TRUCK OR TRAILER	Material		3	May 6, 2024	SYSTEM	(\$2.00)	
		MOUNTED ATTEN (TMA)		- Total				(\$2.00)	
			Material - Tota	l				(\$2.00)	
	0110 -	Total						(\$2.00)	
	0140	4 IN. YELLOW WATERBORNE PAVEMENT	Material		3	May 6, 2024	SYSTEM	(\$14,142.75)	
		MARKING		- Total				(\$14,142.75)	
			Material - Tota	ı				(\$14,142.75)	
	0140 -	Total						(\$14,142.75)	
	0150	MODIFIED COLDMILLING	Overrun	Overrun	2	Apr 18, 2024	SYSTEM	(\$8,764.05)	
		(DEPTH TRANSITIONS)			3	May 6, 2024	SYSTEM	(\$4,407.00)	
				Overrun - To	otal			(\$13,171.05)	
			Overrun - Tota	ıl				(\$13,171.05)	
	0150 -	Total						(\$13,171.05)	
	0160	MISC. AGGREGATE FOR BASE	Material		2	Apr 18, 2024	SYSTEM	(\$74,055.00)	
					3	May 6, 2024	SYSTEM	(\$74,055.00)	
				- Total				(\$148,110.00)	
			Material - Tota					(\$148,110.00)	
			MaterialCredit		3	May 6, 2024	SYSTEM	\$74,055.00	
				- Total				\$74,055.00	
	0400	Total	MaterialCredit	- I otal				\$74,055.00	
	0160 - 0170	BITUMINOUS	Overrun	Overrun	2	Apr 18,	SYSTEM	(\$74,055.00) (\$70,858.52)	
		PAVEMENT MIXTURE PG58-22H		Overrun - To	otal	2024		(\$70,858.52)	
		(SUR	Overrun - Tota	ıl				(\$70,858.52)	
	0170 -	Total						(\$70,858.52)	
	0180	MISC. AGGREGATE	Material		3	May 6, 2024	SYSTEM	(\$43,751.00)	
		FOR BASE		- Total				(\$43,751.00)	
			Material - Tota	l e				(\$43,751.00)	
	0180 -	Total						(\$43,751.00)	
	0190	BITUMINOUS PAVEMENT MIXTURE	Material		2	Apr 18, 2024	SYSTEM	(\$292,460.98)	
		PG58-22H		- Total				(\$292,460.98)	
		(SUR	Material - Tota	I				(\$292,460.98)	
			MaterialCredit		3	May 6, 2024	SYSTEM	\$292,460.98	
				- Total				\$292,460.98	
			MaterialCredit	- Total				\$292,460.98	
			Overrun	Overrun	3	May 6,	SYSTEM	(\$49,185.27)	

May 7, 2024



Line Item Adjustments by Estimate

Contract ID: 240216-A02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JST0075	0190	BITUMINOUS PAVEMENT	Overrun			2024			
		MIXTURE PG58-22H		Overrun - T	otal			(\$49,185.27)	
		(SUR	Overrun - Tota	ıl				(\$49,185.27)	
	0190 -	Total						(\$49,185.27)	
	0200	MISC. AGGREGATE	Material		3	May 6, 2024	SYSTEM	(\$80,378.00)	
		FOR BASE		- Total				(\$80,378.00)	
			Material - Tota					(\$80,378.00)	
	0200 -	Total						(\$80,378.00)	
	0210	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	Overrun	Overrun	3	May 6, 2024	SYSTEM	(\$83,045.27)	
				Overrun - Total				(\$83,045.27)	
			Overrun - Tota	ıl				(\$83,045.27)	
	0210 -	Total						(\$83,045.27)	
	0230	BITUMINOUS PAVEMENT MIXTURE	Overrun	Overrun	3	May 6, 2024	SYSTEM	(\$72,660.81)	
		PG58-22H		Overrun - T	otal			(\$72,660.81)	
		(SUR	Overrun - Tota	d				(\$72,660.81)	
	0230 -	Total						(\$72,660.81)	
JST0075 -	ST0075 - Total								
Overall -	verall - Total								

MoDOT

Contract Adjustments for Contract - 240216-A02

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 9 of 9